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tT.b1e 1 (p1us r91i cont. )

roral nunber at lerst one egg, and t or that total that
rredq-"d at least one nestlinLJ.

ct..r.. 55 nests, s4x
plu:r crant counLY Fjtes
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runber ot looc itens observed lreirq deliver€d to
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(1991 DIET SAhFLES. cont )

{ALL SEASONS)
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runber of fooc beinq derivered to

r:! € td))' c Ic /-,i LFI
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JurY.ourts

Ju.€: 0.? (n = 41t s r ).21
Juryr ?.? (n. 43r 5 = 3,9)

Ju.€, 0,2 ln = 12
rulyr ?.5 (n -. r6

1, 0, 0, o, o
lear: 0.2 (n - 5, s - 0.a)

reari 2.4 (n = 3t s - 2-5)

0, 0, 0, 1.5, 0, 0, 0
Mea,: 0.2 (n - 7? s = 0.6)

July courts: 1,5, a . a, 2,4,
Mean: 2,? (n = 3, s = r.ti)
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Mean: 0.1 (n-3?s=05)
a, 2, a.6, A.5, 1,3, r.5

l1€an: 2 '1 (n = 9, s = 1 9)
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